sinf =

Find all solutions over the interval 0<0<2rx.

cosf = 72 Find all solutions over the interval 0<6 < 360°.
cscO=2 Find all solutions over the interval 0<6 <360°.
cscO=-1 Find all solutions over the interval 0<6 < 360°.
sinf =2 Find all solutions over the interval 0 <0 <27.
2c0s0++/3=0 Find all solutions over the interval 0<6 < 360°.
2cos0+3=4 Find all solutions over the interval 0<6 < 360°.
4cos’0-3=0 Find all solutions over the interval 0 <60 <2r.




tan@sin@ —tan6 =0

Find all solutions over the interval 0<0<2rx.

3cos@+\/§ =cos0

Find all solutions over the interval 0 <6 <2rx.

sinftan@ —sin0@ =0

Find all solutions over the interval 0<6 < 360°.

2¢0s’ 0 +cosO =0

Find all solutions over the interval 0 <6 <2rx.

sec’@+secO—-2=0

Find all solutions over the interval 0<6 < 360°.

sin’@ =cosf —1

Find all solutions over the interval 0 <6 <2rx.

tan’6—1=0

Find all solutions over the interval 0<6 < 360°.

2sin> 0 ++/2sin =0

Find all solutions over the interval 0<0<2rx.
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